Macierze sztywnosci elementéw kratownicy
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Y3 :=7-1m=—0.28571m Y5 :=7-1m=—0.57143m

16 =~/ (3m) 2+ (—1m-Y5) 2

=3.03046 m L3 :=L6-cos () =2.02069 m

Y4 := L3-cos (B) —1m = 0.68132m X4 := 7m —L3-sin (B) = 5.87912m
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Element "4" - blok macierzy sztywnoSci

Lx :=2m =2.00000m Ly :=Y3 =-0.285714m

MLMzz\/(Lx)2+ (Ly) 2 = 2.020305m

EA | (Lx)? Lx-Ly 13097 -1871) kN
de=——3 J = i
(L)° | Lx-Ly (Ly)? -1871 267 m
Element "5" - blok macierzy sztywnoS$ci
Lx.:=2m=2.00000m Ly.:=Y5-Y3 =-0.285714m
MLMzz\/(Lx)2+ (Ly) 2 = 2.020305m
N EA | (Lx)? Lx-Ly | (13097 —1871j KN
Element "8" - blok macierzy sztywnosci
Lx:=1m=1.00000m Ly.:= (Y5-5m) = -5.571429m
MLMzz\/(Lx)2+ (Ly)2 = 5.660461m
N EA | (Lx)2 Lx-Ly | (149 —829] KN
Element "9" - blok macierzy sztywnoSci
Lx:=X4—-4m=1.879121m Ly :=Y4—Y5=1.252747m
MLMzz\/(Lx)2+ (Ly) 2 = 2.258422m
N EA | (Lx)? Lx-Ly | (8277 5518] KN
(L)3 Lx-Ly (Ly)z 5518 3679 ) M



